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{18 negative,
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= —gex + 12; The Tuel decreases - gallon for every mile

driven.

.

= Zy: The height increases 1.5 feet each year.

= —6{x -+ 480; The volume decreases 60 cubic feel per

hour,

a v~ 212 = %{1 - 00yor v = %1 4 37

b, 71.6°F

¢ &= {y~32)

d. about 28.33°C

The slope was miscalculated; The siope s 11, 30 the incame
s 511 per hour,

ves, Sample answer: v = 0.535x — 225,y = 6; After
15 months, the hair will be 6 inches in length.

1

Sample answer: v = —6.2x + 549, no; The value 85 is not
close to the values used to create the ine of fit,.
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v 0.88x + 169 r = 0.88: strong positive correlation
yo= =1 Ody + 5,68 r = —0.93; strong negative conelabion

y o= -~ {L48x + 4.08; r = —{0.91]; strong negative correlation

a. 7 the decrease in balance per month
b, domain: 0 € x £ 24, range: 0 £ v < 3000; The domain

represents %&-@ term of the balance of the loan from start
fo finish, and the runge represents the balance of the loan.
¢. 31500

Sample anywer: AL (0.4), B (4, 0), O (1, 1) line
mgmmﬁfgwﬁ and { y o= 3y~ 4 line connecting B and
§oE ey z «i»»— =

D

a. ves; If a country has a high number of personal computers
per capita, it indicates wealth and a high quality of life
which would also indicate that the country would have a
health care system and, therefore, a higher life expectancy.

h. no; The high life expectancy is not caused by the
computers, Both are benefits of the wealth of a country,
This is an example of how correlation does not imply
causation,



